

$$L_{2,0}(x) = \frac{(x-0.6)(x-0.9)}{(0-0.6)(0-0.9)} \quad L_{2,0}(0.45) = 0.125$$

$$L_{2,1}(x) = \frac{x(x-0.9)}{(0.6-0)(0.6-0.9)} \quad L_{2,1}(0.45) = 1.125$$

$$L_{2,2}(x) = \frac{x(x-0.6)}{(0.9-0)(0.9-0.6)} \quad L_{2,2}(0.45) = -0.25$$

Note $\cos 0 = 1$ $\cos 0.6 \approx 0.825$ $\cos 0.9 \approx 0.6216$

$$P(x) = L_{2,0}(x) + (\cos 0.6)L_{2,1}(x) + (\cos 0.9)L_{2,2}(x)$$

$$P(0.45) = 0.125 + (\cos 0.6) \cdot 1.125 + (\cos 0.9)(-0.25)$$

$$P(0.45) = 0.8981000747$$

$$\text{Actual value} = 0.9004471024$$

$$\text{Error} = \cos(0.45) - P(0.45) = 0.0023470276$$

Error bound:

$$E(x; f) = \frac{f'''(\xi(x))}{3!} (x-0)(x-0.6)(x-0.9)$$

$$|E(x; f)| \leq \frac{|\sin \xi(x)|}{6} |x(x-0.6)(x-0.9)| \leq \frac{\sin 0.9}{6} 0.05704 = 0.0001493$$

$$f'(x) = -\sin x, \quad f''(x) = -\cos x, \quad f'''(x) = \sin x$$

Note: $\sin x$ is increasing in $[0, 0.9]$

Let $g(x) = x(x-0.6)(x-0.9)$ $g'(x) = 3(x^2 - x + 0.18)$
 $x_1 = 0.7645757311$
 $x_2 = 0.2354242689$
 $g(x_2) = 0.0570405184$
 $g'(x_2) = -0.0170405184$